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Applied Economics Exercises: Exercise 3

You are in charge of hiring a new general employee for your egg farm and the starting wage is $22,000 per 
year. You also pay an additional $2,000 to cover benefits.

A. How many eggs, at $0.07 per egg, would have to be produced to pay the employee and their   
 benefits?

_________________________________________________________________________________________________

B. If your hens lay an average of 265 eggs per year per hen, how many hens would you have to have to  
 pay the employee?

_________________________________________________________________________________________________

C. How much does the employee make per hour?

_________________________________________________________________________________________________


